



St. Louis County, Minnesota

Date of Report: 12/14/2025 4:23:21 AM

		G	Seneral Details						
Parcel ID:	060-0040-0017	5							
		Legal	Description De	tails					
Plat Name:	PETERSONS I	BEACH GILBERT							
Section	Tow	nship Range			Lot	Block			
-		-	-		0014	-			
Description:	Lot 14								
_			axpayer Details						
Taxpayer Name	GULBRANSON	_							
and Address:									
	EVELETH MN	55734-2252							
			Owner Details						
Owner Name	GULBRANSON	L ETUX							
		Payable	e 2025 Tax Sum	mary					
	2025 - Net	Тах			\$2,235.00				
	2025 - Sner	rial Assessments							
2025 - Special Assessments \$919.00									
2025 - Total Tax & Special Assessments \$3,154.00									
		Current Ta	x Due (as of 12	/13/2025)					
Due Ma	ay 15		Due October 15		Т	otal Due			
2025 - 1st Half Tax \$1,577.00		2025 - 2nd Half Tax \$1,577.00			2025 - 1st Half Ta	x Due \$1,766.24			
0005 4-t Half Tay Dais		2025 - 2nd Half Tax Paid							
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd F	iair i ax Paid	\$0.00	2025 - 2nd Half Tax Due \$1,718				
2025 - 1st Half Penalty	\$189.24	2025 - 2nd Half Penalty \$14			Delinquent Tax \$1				
<u> </u>		2025 - 2nd Half Due		<u> </u>					
2025 - 1st Half Due	\$1,766.24	2025 - 2nd F	lait Due	\$1,718.93	2025 - Total Due	\$4,714.36			
		-	Taxes (as of 12	2/13/2025)					
Tax Year		Net Tax	Penalty	Cst/Fees					
2024		\$1,045.00	\$73.15	\$20.00	\$91.04	. ,			
	Total:	\$1,045.00	\$73.15	\$20.00	\$91.04	\$1,229.19			
Parcel Details									
School District:	Property Address: 4784 CEDAR ISLAND DR, EVELETH MN								
Tax Increment District:	2909								
Property/Homesteader:	-								
. reporty/riomesteader.		Assessment I	Details (2025 Pa	vable 2026)					
Class Code H	lomestead	Land	•	,	Land Def B	ldg Net Tax			
(Legend)	Status	EMV	EMV E	MV E	MV EM	V Capacity			

204

0 - Non Homestead

\$75,200

\$75,200

Total:

1312

\$56,000

\$56,000

\$131,200

\$131,200

\$0

\$0

\$0

\$0





St. Louis County, Minnesota

Date of Report: 12/14/2025 4:23:21 AM

Land Details

Deeded Acres: 0.00 Waterfront: ELY Water Front Feet: 68.00 P - PUBLIC Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

e dimensions shown are nos://apps.stlouiscountymn.	gov/webPlatsIframe/	rmPlatStatPop	Up.aspx. If the	here are any quest	ions, please email PropertyT	ax@stlouiscountymn.gov			
tps://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.									
Improvement Type	provement Type Year Built Main Floor Ft ² Gross Area F		Gross Area Ft ²	Basement Finish	Style Code & Desc				
HOUSE	1910	76	768 1,236		U Quality / 0 Ft ²	1S+ - 1+ STORY			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	6	24	144	FOUNDATION				
BAS	1.7	24	26	624	BASEMENT				
DK	1	6	8	48	POST ON GF	ROUND			
DK	1	10	24	240	POST ON GF	ROUND			
ОР	1	6	24	144	POST ON GF	ROUND			
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC			
1.25 BATHS	3 BEDROOF	MS	-		-	CENTRAL, FUEL OIL			
Improvement 2 Details (SAUNA+ST)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des			
SAUNA 1922 96 96									
Segment	Story	Width	Length	Area	Foundation				
BAS 1 8 12 96 FLOATING SLAB						SLAB			
Improvement 3 Details (DET GARAGE)									
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Des									
GARAGE	0	40	0	400	- DETACHE				
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	20	20	400	FLOATING	SLAB			
		Improvem	ent 4 Deta	ails (SCREEN	HS)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des			
SCREEN HOUSE	0	16	8	168	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	12	14	168	FLOATING	SLAB			
Improvement 5 Details (LOG DG/ST)									
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Des									
STORAGE BUILDING	0	32	0	320	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	16	20	320	POST ON GF	ROUND			
LT	1	8	8	64	POST ON GROUND				





St. Louis County, Minnesota

Date of Report: 12/14/2025 4:23:21 AM

			Improve	ment 6 Deta	ils (FABRIC	CPT)				
lm	nprovement Typ	e Year Bui	-	Floor Ft ²	Gross Area Ft ²	-	ement Finish	Style C	ode & Desc.	
	CAR PORT	0		240	240					
	Segme	Segment Story Width Ler		Length	Area		Foundation			
L	BAS	1	12 20		240		POST ON GROU			
Improvement 7 Details (12X20)										
,							ement Finish	Style C	ode & Desc.	
STORAGE BUILDING 0 240 240									-	
Segment Story		ory Width	Length	Area		Foundation				
	BAS	1	12	20 240 POS		POST ON	ST ON GROUND			
Improvement 8 Details (NV)										
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc									ode & Desc	
	LEAN TO	0		24	24		-		-	
	Segme	nt Sto	ory Width	Length	Area		Found	lation		
L	BAS	1	3	8	24		POST ON	ROUND		
Improvement 9 Details (12X12)										
Improvement Type		e Year Bui	lt Main	Floor Ft ²	Gross Area Ft ²	s Area Ft ² Basement Finish Style		Style C	ode & Desc	
_	LEAN TO	0		144	144		-		-	
Segment S		ory Width	Length	Area		Found	ation			
BAS 1		12	12	144		POST ON GROUND				
			Impro	ovement 10	Details (10X1	0)				
lm	provement Typ	e Year Bui	lt Main	Floor Ft ²	Gross Area Ft ²	Bas	ement Finish	Style C	ode & Desc	
STORAGE BUILDING 0 100 100 -						-		-		
Segment		nt Sto	ory Width	Length	Area		Foundation			
BAS		1	10	10	100		POST ON GROUND			
Sales Reported to the St. Louis County Auditor										
No S	Sales informa	tion reported.								
				Assessmer	nt History					
		Class					Def	Def		
	Year	Code (<mark>Legend</mark>)	Land EMV	BI:	dg IV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity	
		204	\$63,900	\$51,		115,400	\$0	\$0	-	
2024	Payable 2025	Tota		\$51,		115,400	\$0	\$0	1,154.00	
		201	\$63,900	\$51,		115,400	\$0	\$0		
2023	Payable 2024	Tota		\$51,		115,400	\$ 0	\$0	885.00	
		201	\$39,700	\$55,		594,800	\$0	\$0	-	
2022	Payable 2023	Tota		\$55,		94,800	\$0	\$0	661.00	
		201	\$35,400	\$55,		590,500	\$0	\$0	-	
		· - ·		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		- , -		T -	1	





St. Louis County, Minnesota

Date of Report: 12/14/2025 4:23:21 AM

	Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV				
2024	\$1,256.00	\$834.00	\$2,090.00	\$49,030	\$39,516	\$88,546				
2023	\$1,112.00	\$834.00	\$1,946.00	\$27,678	\$38,414	\$66,092				
2022	\$966.00	\$834.00	\$1,800.00	\$24,019	\$37,386	\$61,405				

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.